R For Data Science Cheat Sheet Generalform: (i 5, by]—+ & Advanced Data Table Operations

“ " Return the penultimate row of the DT
}-ake i then calculate grouped by by BH,N 1 Return the gumber of rows

urn V2 and V3 as a data.table

bl V2 V3§3;g5n]v2 and V3 as a data.table
Return the result of j, grouped by all possible
cémgmations of gwups specified in by

Simple | Smart | Spesd

DT, llst(VZ
DT [, mean (V3)

ference jhUsing :=

. V1 is updated by what is.=
i gg[,vl. round (exp (V1),2) ] after Return the result fy,

V1 V2 V3 V4 1: 2.72 A calling
0.1107 1

2: 7.39 B -0.1427 2

3: 2.72 C -1.8893 3

: 7.39 A -0.3571 4

data.table

e, oy s=14 Columns V1 and V2 are updated

( Vl V2"):=list (round(exp(V1l),2), by what is afterh:= . )
Alternative to the above one. Wit|

ZZLEF’PTERS Ezlmr?l]’l?? (exp (VL) 2), you print the result to the screen

glg@ih@&g’ﬁ ;oy\yg;%&pg by V2

=, DT, lapply (- SD, sum) , by=v2] | Calculate sum of columns in.SD grouped by

V1 V2 V3 V4 1: 15.18 D
-0.1107 1

2: 1619.71 E -0.1427 2
3: 15.18 F -1.8893 3
4: 1619.71 D -0.3571 4

> DT[,V1:=NULL] Remove V1

DT [, lapply(.SD, ,by=v2, )
?SDcc[)isi?? VV\y,é..?..le.’}r)n% by (‘Zl%lculate sum of V3 and V4 in .SD grouped by

V2 V3 V4 1: A
-0.478 22

2: B -0.478 26
3: C -0.478 30

Creating Adata.table

> set.seed (45L) Createagata. cable > DT[,c("V1","V2") :=NULL] Remove columns VI and V2 S DT[. lappl _ Calculate sum ofvs and va in . sp grouped b
: .SD, by=V2 - SD grouped by
> DT <- data.table(Vl=c(lL,2L), and call it > Col’s . choseé:c ("A"™,"B") [’. SaDiilysLastseuOm)"'V"y 3: 4’ V2
2=LETTERS[1:3], > DT[,Cols.Chosen:=NULL] Delete the column with column name
V3=round (rnorm(4),4),

V4=1:12) Cols.chosen
> DTI,(Cols.Chosen):=NULL] Delete the columns specified in th
variah

Subsetting Rows Using i

. Select 3rd to 5th row
B? S 25 ! Select 3rd to 5th row
DT [V2=="A"] Select all rows that havey in columnve

Calculate sum ofva, grouped by v1

> DT <- DT[,.(V4.Sum=sum(V4)),

Indexing And Keys

> setkey (DT, V2) A kegl is set on V2; output is returned

DT[V2 %in% c("a",ncv)] | Vvalue Select all rows thatyorCin column vz S DT["A"] invisibly Return all rows where the keyz) has DT [V4 4 Select that group of which the sum is
have value v vs e column (set to the value A . DT { .. Zstllrfl;ur?misum (va)), E@ﬁ?fﬁ;ﬁ:é)group of which the sum
: -0. loy=V1] [V4.Sum>40]
Mampulatlng on Columns in j . 2 n cisenan 4 :
Retsign as a vector s e
. DT[ 4: 2 A 0.3262 10 - Calculate sum ofvas, grouped by v,
> DT[c("A","C")] Return all rows where the key column (V2) has value A c llZyE\T/’l[ﬁ [é\l{éeil(nfvilr]n (vary, ordered on V1

> DT["A",mult="first"] Return first row of all rows that match value A in key
column V2

> DT["A",mult="last"] Return last row of all rows that match value A in key

column V2

> DT[c("A","D")] Return all rows where key column V2 has value A or D

Vi V2 V3 V4
i 1A -0.2392 1

V1 v4.Sum 1:
2 42 2: 1 36

“Rety (V3 a$ a data.table

i gg [Rétm(p%%?& of allelements of V1ina
lyet

[1] 18

> DT Lt geir 9 insrtitable

0-45460The same as the above, with ne
> DT[, . (Aggregate=sum(V1),
Sd.V3=sd (V3))]

Aggregate Sd.v3 1: 18

0.4546055

Return the sum of all elements of V1 and the

.
set()-Family
2: 2 A -1.6148 4
3: 1 A 1.0498 7
4: 2 A 0.3262 10
5

: NA D NA NA
Select column V2 and compute std. dev. of V3,
Whlcj;\[l’efu ns é 5| le valtie gvg ét]s recycled

B”WPlUWb\{%ﬂ% Rt V3

- DT[c("A","D"),nomatch=0] | Returnallrows where key columnvz has valuea orp

> rows <- list(3:4,5:6)
Vvl v2 V3 V4 1: 1

> cols <- 1:2

> for (i in seq along(rows)) Sequence along the values of rows,

{set(DT, - and for the values of cols, set the
values of those elements equal to NA
(invisible)

)

A
A
A
A

Doing j byGroup

wpn mewy Return total sum of V4, for rows of key column V2 that
ﬁave vgi:ugs]?\ or CC s Sum (V4) ] '

L DTI, . (V4. Sum—sum (V4) ) , by=V1] Calculate sum ofva for every group inv1 QEﬁLlérr&sum of column V4 for rows of V2 that have value A setnames ( )

Vi V4.5S
[1: 1 36 .
2: 2 42

. wyon m g Set name of to Rating (invisible)
> DT[,.(V4.Sum=sum(V4)), gglljctjllzate sum ofvs for every group inv1 i zgigzrmniz {gg’ V2", "Rating") V2 Change 2 column names (invisible)
by=. (V1,V2)] wyon wysny
_ Calculate sum of f Sort by V1 and then by V2 within each group of v1 (invisible) c("v2","v3"),

> DT L, (g4_sgm—8($rf_(\17;1§ " : vafor every group in ]1’§/e%éct rows that have value 2 for the first key ( v1) and the c("V2.rating","v3.DC"))

_ y=sign sign(vi-1) o, value C for the second key (V2)
P i 20c0.3262 6 2: setnames()
L. 1 42 C -1.6148 12
> DT[,.(V4.Sum=sum(V4)), The same as the above, with new name nan w Select rows that have value 2 for the first key 1) and within -
by= [(\/(1 01=sign(V1- (1))%)for the variable you’re grouping by > DTI. (%1 4V those) rws the value A or C for the second key ( va) > setcolorder (DT, Change  column  ordering

A -1.6148 4

. contents of the specified vector
: 2 A 0.3262 10 S .
2
2

> DT[1:5,.(V4.Sum=sum(V4)), Calculate sum of V4 for every group in V1
by=V1] after subsetting on the first 5 rows
> DT[ .N,by=V1] Count number of rows for every group in

nomylno wygn o wy3n

C 0.3262 6
C -1.6148 12




